(f’/:f{’»/iﬁ.;lﬁbﬂf
2019-20¢¢ - U214

(bl F m&f‘{ RS N3 )i S\
Assignment 1

(Dpgos

(5% 2 =10) -Gy 2L 2o
Gb = 1

G- b Cosd (d) abCos® (o)  d-bSin® () abSind ()
~Funds A d, b,/ 2

[@be=0 (b) [@d b¢] = 1(a)

[abd#1 @ [dbgl#0 (o)
e oL L (F-G) 3

FL4ce ) Fligd (o

Fes @ FA_gd

ced 12+ m? + n? qundvfd”/ibu’(l,m,nﬁ 4
F e (@) 2 (o) 1 ®» 0 (@
Gt s b5 =t T 2 + 3y + 4z + 1 = 065~ 5
FH e (d) Tan B () st gy e BHSRE ()

V29x77 V29x77 V29x77

(2x5=10) —é;.,,l.eéamy”‘ﬁf:.,dv

o S # (Projection) F¥b = 21 + 3] + 2ktssg @ = 1 + 2] + k(Vector) A 1
Divcurl F =0 JSig bk 2

—+&/f/nc(2‘z‘ - 1) 0(3,4,2)5 R (70u6)l®£;4~_/(}’”.~,ut,»u( g1 3
¢ ‘gcgj,u%?‘—%cgmlisc—i—;cgwﬁfﬁwﬂ#uﬁ“}&ﬂjgg 4

(1% 10 = 10) s 26l LI e
curl(FxG)=FDivG —GDivF + (G-V)F — (F-V)G /=t 1
Loidet(200-1) B2 +y -5z =12 - Lourpfs =2 =25 2

Wl

-3

—‘augichlﬁfuf%u((}”ufupd/b J1
o e n Lo F et S Ui 12x? — 2y2 — 62% — 2xy + Tyz + 62x = 0 2/ =t 3
-/



Gt FE iUy
2019-20¢ b= UA1-4

(bl F uuﬁ’{ RS N3 )i S\
Assignment 2

Q)Eo

(5% 2 =10) -Gy 2L 2o
i di/(Parabola) 3 (conic)ds # 3 1

e <1 e+1 () e=1 O e>1 (a)
S et = Ut i(PolaD & K36 & S Usl FUibn P s Q)1 2

S @ Wk (0 Wwonr (b))  sEn (@)
AB s L pn i ZB A s (Ellipse) .1 3

et Setdd (b) et ety (a)

A @ crfe Al ©
Laujc«'ﬁl/&}ufcb»?ﬂ 4

xl2+1=0 (b) VaiZ+9=0 (a)

& (D ax+b=0 (c)
s Ut Polynomial Gl 5

3 (d) 2 (¢) 1 (b) 0 (a)
(2 x5 =10) s 2 Lty it
~<2x + 3y + 5 = 05 mSGA) 5 L6/’ el S 36 L 1
—;/(}’fg,u(/Ji’dué.m%;ﬁfdu/’iLy/iéyz = 4ax 3¢ 2
ax? + By? +yz? = 143U Lo dax? + by? + cz? = 1, abc # 0 /= 3

L ey R WY

a b c

e 2 4+ V=T 2. L0615 S F S3x3 — 4x? + x + 88 = Ozbsl 4
(1x 10 = 10) s 26y L e
—;/&QJ;L}JJ_/J'IZ—E + Z—j = 1llx+my +nz = O(:“V»‘ 1
S f (4 3)f () = 2x* — 13x2 + 10x — 19 2
-/ 3 Ratious L f(x) = 2x° — 2x* + 3x% —2x2 —x — 5 =0 o/ =k 3



